F281-629 (Rev. 5/92) 16-16018

F281-629 (R	ev. 3/92)	16-16018	i		i i
	SAN ANTONIO WATER SYSTEM P. O. BOX 2449 SAN ANTONIO, TEXAS 78298-2449 TABULATION OF BIDS		Terra Contracting Services, LLC 5703 Rittiman Plaza San Antonio, TX 78218	Amigo PAT Texas, LLC Polston Applied Technologies TX 710 McCarty Houston, TX 77029	
PROPOSAL FOR:	Sanitary Sewer Cleaning and Inspection of Designated "Year 4" Siphons Package 1 Consent Decree Related		Terra Contracting Servic LLC 5703 Rittiman Plaza San Antonio, TX 78218	Amigo PAT Texas, LLC Polston Applied Technol TX 710 McCarty Houston, TX 77029	
TIME & DATE: ITEM NO.	Date of Award through October 31, 2016) :00 p.m., March 14, 2016 escription and approximate quantity		Terra C LLC 5703 Ri San Ant	Amigo PAT 7 Polston Appli TX 710 McCarty Houston, TX	
HEM NO.	SIPHON 23933-SIX MILE CREEK	UNIT	[ · H 47 52	7	
	205 LF	PRICE/LF	34.30		
1	Clean Sanitary Sewer Main 84" Diameter	TOTAL	7,031.50		
	·	UNIT			
2	914 LF Clean Sanitary Sewer Siphon 66" Diameter	PRICE/LF TOTAL	138.49 126,579.86		
	Cican Santary Sewer Siphon of Diameter	UNIT	120,377.00		
	1,360 LF	PRICE/LF	138.32		
3	Clean Sanitary Sewer Siphon 84" Diameter	TOTAL	188,115.20		
	205 LF	UNIT PRICE/LF	8.58		
4	Inspect with CCTV Sanitary Sewer Main 84" Diameter	TOTAL	1,758.90		
		UNIT			
5	914 LF Inspect with CCTV Sanitary Sewer Siphon 66" Diameter	PRICE/LF TOTAL	5.77 5,273.78		
	inspect with CC1 v Saintary Sewer Siphon of Branicici	UNIT	3,273.76		
	1,360 LF	PRICE/LF	5.82		
6	Inspect with CCTV Sanitary Sewer Siphon 84" Diameter	TOTAL	7,915.20		
	1 ea.	UNIT PRICE/EA	134.88		
7	Inspect Manhole	TOTAL	134.88		
		UNIT			
8	3 ea. Inspect Siphon Box Structures	PRICE/EA TOTAL	1,070.52 3,211.56		
0	inspect Sipholi Box Structures	UNIT	3,211.30		
	914 LF	PRICE/LF	28.23		
9	Dewater Sanitary Sewer Siphon 66" Diameter	TOTAL	25,802.22		
	1,360 LF	UNIT PRICE/LF	28.45		
10	Dewater Sanitary Sewer Siphon 84" Diameter	TOTAL	38,692.00		
				_	
11	1 Lump Sum Flow Diversion	LUMP SUM	156,179.92	ED AE	
- 11	Tiow Diversion	UNIT	130,177.72	TA. NSI	
	502 Ton	PRICE/TON	54.06	[O.L	
12	Debris Removal, Transportation and Disposal	TOTAL	27,138.12	'AB	
	20 Hours	PRICE/HR	44.03	BID NOT TABULATED BID NON RESPONSIVE	
13	Provide Police Officer Services	TOTAL	880.60	ON ON	
		T TA TIPE		BID	
	1 ea.	UNIT PRICE/EA	209.71	ВВ	
14	Provide Traffic Control Plan	TOTAL	209.71		
	17 0				
15	1 Lump Sum Maintain Traffic Control	LUMP SUM	1,320.80		
- 13	Hamain Hame Condo	LOWI SOM	1,520.00		
	1 Lump Sum				
16	Mobilization	LUMP SUM	77,378.24		
	TOTAL ESTIMATED PRICE FOR SIPHON 23933-Six Mile Creek	TOTAL	667,622.49		
	Siphon 16031 - San Jacinto 197 LF	UNIT PRICE/LF	141.14		
1	Clean Sanitary Sewer Siphon 36" Diameter	TOTAL	27,804.58		
	·	UNIT	·		
2	197 LF	PRICE/LF	5.88		
2	Inspect with CCTV Sanitary Sewer Siphon 36" Diameter	TOTAL	1,158.36		
	2 ea.	PRICE/EA	2,316.95		
3	Inspect Siphon Box Structures	TOTAL	4,633.90		
	197 LF	UNIT PRICE/LF	11.76		
4	Dewater Sanitary Sewer Siphon 36" Diameter	TOTAL	2,316.72		
	11				
5	1 Lump Sum Flow Diversion	LUMP SUM	73,343.14		
	TION DIVERSION	LUMP SUM	13,343.14		
	11 Tons	PRICE/TON	54.17		
6	Debris Removal, Transportation and Disposal	TOTAL	595.87		
	100 hours	UNIT PRICE/HR	44.03		
7	Provide Police Officer Services	TOTAL	4,403.00		
_					

1

F281-629 (R	ev. 5/92)	16-16018			
	SAN ANTONIO WATER SYSTEM P. O. BOX 2449 SAN ANTONIO, TEXAS 78298-2449 TABULATION OF BIDS		Terra Contracting Services, LLC 5703 Rittiman Plaza San Antonio, TX 78218	Amigo PAT Texas, LLC Polston Applied Technologies TX 710 McCarty Houston, TX 77029	
PROPOSAL FOR: TIME & DATE: ITEM NO.	Sanitary Sewer Cleaning and Inspection of Designated "Year 4" Siph Package 1 Consent Decree Related (Date of Award through October 31, 2016) 3:00 p.m., March 14, 2016  DESCRIPTION AND APPROXIMATE QUANTITY	nt Decree Related bugh October 31, 2016) 4, 2016 Inte QUANTITY		Amigo PAT Texas, LLC Polston Applied Technol TX 710 McCarty Houston, TX 77029	
8	1 ea. Provide Traffic Control Plan	UNIT PRICE/EA TOTAL	3,302.01 3,302.01		
9	1 Lump Sum Maintain Traffic Control	LUMP SUM	6,163.75		
10	1 Lump Sum Mobilization	LUMP SUM	13,181.12		
	TOTAL ESTIMATED PRICE FOR SIPHON 16031-San Jacinto Siphon 23636-Alazan Creek #1 242 LF	TOTAL UNIT PRICE/LF	136,902.45		
2	Clean Sanitary Sewer Siphon 36" Diameter  242 LF Inspect with CCTV Sanitary Sewer Siphon 36" Diameter	PRICE/LF TOTAL UNIT	9.57 2,315.94		
3	2 ea. Inspect Siphon Box Structures	PRICE/LF TOTAL	2,316.95 4,633.90		
4	242 LF Dewater Sanitary Sewer Siphon 36" Diameter	UNIT PRICE/LF TOTAL	9.57 2,315.94		
5	1 Lump Sum Flow Diversion	LUMP SUM	66,798.27		
6	10 Tons Debris Removal, Transportation and Disposal	UNIT PRICE/TON TOTAL	53.96 539.60		
7	80 Hours Provide Police Officer Services	UNIT PRICE/HR TOTAL	44.03 3,522.40		
8	1 ea. Provide Traffic Control Plan	UNIT PRICE/EA TOTAL	209.71 209.71		
9	1 Lump Sum Maintain Traffic Control	LUMP SUM	792.49		
10	1 Lump Sum Mobilization	LUMP SUM	13,839.09		
	TOTAL ESTIMATED PRICE FOR SIPHON 23636-Alazan Creek #1 Siphon 25670-Alazan Creek #2	TOTAL UNIT	129,720.96		
1	250 LF Clean Sanitary Sewer Siphon 36" Diameter	PRICE/LF TOTAL	83.41 20,852.50		
2	250 LF Inspect with CCTV Sanitary Sewer Siphon 36" Diameter	PRICE/LF TOTAL UNIT	9.27 2,317.50		
3	2 ea. Inspect Siphon Box Structures	PRICE/LF TOTAL UNIT	2,316.95 4,633.90		
4	250 LF Dewater Sanitary Sewer Siphon 36" Diameter	PRICE/LF TOTAL	27.80 6,950.00		
5	1 Lump Sum Flow Diversion	LUMP SUM UNIT	61,892.87		
6	1 Ton Debris Removal, Transportation and Disposal	PRICE/TON TOTAL UNIT	52.78 52.78		
7	80 Hours Provide Police Officer Services	PRICE/HR TOTAL UNIT	44.03 3,522.40		
8	1 ea. Provide Traffic Control Plan	PRICE/EA TOTAL	209.71 209.71		
9	1 Lump Sum Maintain Traffic Control	LUMP SUM	792.49		

F281-629 (Rev. 5/92) 16-16018

F281-629 (F	Rev. 5/92)	16-16018	ı		i
	SAN ANTONIO WATER SYSTEM P. O. BOX 2449 SAN ANTONIO, TEXAS 78298-2449 TABULATION OF BIDS		g Services, laza 78218	as, LLC Technologies 029	
PROPOSAL FOR: TIME & DATE:	Package 1 Consent Decree Related (Date of Award through October 31, 2016) 3:00 p.m., March 14, 2016		Terra Contracting Services, LLC 5703 Rittiman Plaza San Antonio, TX 78218	Amigo PAT Texas, LLC Polston Applied Technologies TX T10 McCarty Houston, TX 77029	
10	I Lump Sum Mobilization	LUMP SUM	11,619.86	A T T F H	
10	TOTAL ESTIMATED PRICE FOR SIPHON 25670-Alazan Creek #2	TOTAL	112,844.01		
1	Siphon 509230-Memorial 126 LF Clean Sanitary Sewer Siphon 24" Diameter	UNIT PRICE/LF TOTAL	36.78 4,634.28		
2	126 LF Inspect with CCTV Sanitary Sewer Siphon 24" Diameter	PRICE/LF TOTAL	9.19 1,157.94		
3	2 ea. Inspect Siphon Box Structures	UNIT PRICE/LF TOTAL	579.25 1,158.50		
4	126 LF Dewater Sanitary Sewer Siphon 24" Diameter	UNIT PRICE/LF TOTAL	18.39 2,317.14		
5	1 Lump Sum Flow Diversion	LUMP SUM UNIT	3,341.27		
6	3 Tons Debris Removal, Transportation and Disposal	PRICE/TON TOTAL UNIT	54.06 162.18		
7	20 Hours Provide Police Officer Services	PRICE/HR TOTAL UNIT	44.03 880.60		
8	l ea. Provide Traffic Control Plan	PRICE/EA TOTAL	2,751.67 2,751.67		
9	1 Lump Sum Maintain Traffic Control	LUMP SUM	1,320.80		
10	1 Lump Sum Mobilization	LUMP SUM	6,175.97		
	TOTAL ESTIMATED PRICE FOR SIPHON 509230-Memorial Siphon 956332-South Presa 15 LF	TOTAL UNIT PRICE/LF	23,900.35 77.23		
1	Clean Sanitary Sewer Siphon 18" Diameter  15 LF	TOTAL PRICE/LF	1,158.45 38.62		
2	Inspect with CCTV Sanitary Sewer Siphon 18" Diameter  2 ea.	TOTAL UNIT PRICE/LF	579.30 289.62		
4	Inspect Siphon Box Structures  15 LF Dewater Sanitary Sewer Siphon 18" Diameter	TOTAL UNIT PRICE/LF TOTAL	579.24 77.23 1,158.45		
5	1 Lump Sum Flow Diversion	LUMP SUM	2,027.47		
6	1 Ton Debris Removal, Transportation and Disposal	UNIT PRICE/TON TOTAL	52.78 52.78		
7	100 hours Provide Police Officer Services	UNIT PRICE/HR TOTAL	44.03 4,403.00		
8	l ea. Provide Traffic Control Plan	UNIT PRICE/EA TOTAL	209.71 209.71		
9	1 Lump Sum Maintain Traffic Control	LUMP SUM	880.53		

F281-629 (Rev. 5/92) 16-16018

	SAN ANTONIO WATER SYSTEM P. O. BOX 2449 SAN ANTONIO, TEXAS 78298-2449 TABULATION OF BIDS		Contracting Services, Rittiman Plaza antonio, TX 78218	exas, LLC ed Technologies 77029	
PROPOSAL FOR: TIME & DATE: ITEM NO.	Sanitary Sewer Cleaning and Inspection of Designated "Year 4" Siph Package 1 Consent Decree Related (Date of Award through October 31, 2016) 3:00 p.m., March 14, 2016	age 1 Consent Decree Related of Award through October 31, 2016) o.m., March 14, 2016		Amigo PAT Texas, LLC Polston Applied Technologies TX 710 McCarty Houston, TX 77029	
10	1 Lump Sum Mobilization	LUMP SUM	Terra C LLC S203 I S203		
	TOTAL ESTIMATED PRICE FOR SIPHON 956332-South Presa	TOTAL	15,005.69		
	TOTAL BID AMOUNT	TOTAL	1,085,995.95		
	Terms		Net 30 days		
	Delivery Days				

Demandstar

SAWS Website

## \*LOW BIDDER

## BID INVITATIONS WERE E-MAILED TO AND/OR PICKED UP BY:

Ace Pipe APIS Group AW Contractors Black Star Co. HSW Corp.

Interrahydro
Pipe and Plant
Polston Applied Technologies
Quality Pipe Cleaning
Robinson Pipe Brenford CleanService, Inc. Floxfect Terra Contracting

Hibbardin Shore